Acc. PreCalculus
Semester One End of Course Exam Review
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Simplify the expressions.
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3. Find the equation for the line that passes through the point (2 4) and is perpendicular fo the line

2x -4y +1=0
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4. Find the equation for the line that passes through the point(4,—2) and is  parallel to the line Sx+3y—2=10

= ety I _-5y.
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Simplify the expressions. .
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Solve the inequalities and state answer with INTERVAL notation.

9. x*-5x<6 10. x* +3x>10
X% 5x- 20 XE+3x -10>0
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11. Determine whether the curve represents a graph of a function and state why.
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Determine whether the functions are even, odd, or neither

12. f(x)=4-3x+2x’-%° 13. f(x)=x"+2x*-3

()= 4 48K =X 34X Hox )= XA 4Ix"3
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14. Determine which function(s) are one-to-one

A) B) C)

Find the inverse of tl e given functions

15. glx)=—x+2, x20 /‘ 16, f() =244 XZ4 |
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17. f&)= 18. f(x)=v16-x
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ress the quadratic functions in vertex form. -4 4
19. f(x)=-3x*—6x+7 20. f(x)=2x*-12x-3
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21. Find the polynomial of degree 4, with integer coefficients that has zeros of -i and 1, with 1 a double zero.
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22. Find the polynomial of degree 4, with integer coefficients which has zeros of -4, —
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Describe the end behavior of the polynomials with proper notation.

23, p(x)=2x"-4x+7x
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umber of possible positive and negatlve real zeros using Descartes’ Rule of Sig Slgns

p(x)=2x* -55° +6x* -100x+16
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26. Which of the following is a factor of the polynomial P(x)=x*—8x* +17x*+2x—24,
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Find all asymptotes of the functions. / :f - J) ](X 1) =
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29. List all the possible rational zeros of f- (x)=—2x"+x3—x2-_2x+6 :
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Evaluate the expressions and write in the form a + bi. .
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Solve the equations in terms of In. / /
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. 34. log,(x+1)+log,(x-1) =1log, 8 35. log(x)+log(x—3)=1
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36. Expand the logarithmic expression ln(

37. Rewrite thc following into a single logarithmic expression: 4logx+ ! —log(x+2)- 3!og(x+5)
Jfaj A blof ( X+2 /j (x+s)? \,A)%(XN’” )
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Evaluate the expressions
38. log, 50—log, 400 39. 2log5+log4

Ay, = Ay, 27 5] Ly 54 ~dg - oy Y2

2x+3y=-10
40. Solve the system A (I —LI )
y=3x-7 !

Ix+ 3(3x-7)=-10 //X—:I// = 3-F=-4
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42. Evaluate the average rate of change of f(x)=x*>+3x+4 between x=-2 and x=3 .,0(3)*-9"’? ‘}4 =Xl

F5)-C2) -2 . 70 . p(g)=4-b+4+ 4
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43, Which point(s) are solutions to the inequality y < -;-x —4? Show work! g ' :
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Simplify the expressions and eliminate any negative exponent(s). Assume that all letters denote positive
numbers.

46. 32x*y? §/54x3 47. \/4x2y J4x3
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Describe how €0 ed from the graph of f
48_.y=—2f(x+2) -3 49. y==f(x—1) + 4
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50. Use a graphing dﬁ’lce tdﬁraw the graph of f(x)= 3 +2x—x* . State approximately the interval(s) on
which the function is mcreasmg and on which the function is decreasmg
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51.Use the graph to estimate the average rate of change of the percentage of new employees from 1994 to 2000,
Employment X

£(2000) - P(ww)
2000 1994
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If f(x)=2x-1and g(x)=3x*+2 find 3

52. (go f)(x) 53.(fog)x) FlIN*2)= 2 +2)-

j(ﬁk’#) = 8(2x-1) 2 : m
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54. A ball is thrown vertically upward from the top of a 320-foot high building at a speed of 64 feet per second.
How far above the ground is the bali at its highest point?

Use the formula S(¢) =S, +¥,¢—16¢* initial height S,(feef) and initial velocity V,(feet per sec)

)= 300 + 64t Jot > gate. Maw (21,584)
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Find all the zeros of the given polynomials
55. p(x)=x'—-x*+12x-12 | X= +7iV3 ; I 56.p(x) =2x® —x2+8x— 4
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(X?'A}-,ZYX ') X = "IZ r az""}YU'h —
Find the domam range, and asymptéti if any of following. X ?""4 A= tz’b' /?’
57. h(x)=e"'+2 58. h(x) = =1 + e**2
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59. Brian wants to invest $3,500 at an interest rate of 9.2% per year, compounded monthly. How long will it

(nt)
take his investment to grow to double? 4= P(1+ r)

, 092 Y£¢ \g&
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60. Approximately how long will it take an investment of $500 to quadruple, if the interest fate is SZ % per

year compounded continuously? A=Pe"
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61.Usea graphm% device to find the solution of the equation. Correct to two decunal laces. 3e =4-3x

y—45X M(Wuiw (W/[ﬁ?) X= oY

Fin the solution of the equations

62. log,(3x—1)—log,(2x)=2 5 62. log,(x + 2) — log,(x — 1) = log,3
g 3x/-z_,,5x-l 2 ité:%3
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Combine into a single loga"rgi{lu;/s 3 gx X 4 2 5X '3 5 Z.X
64. %ln(x +y ) \.iln (x- yf+¥]n(3x)1 65. zlogjxx+-: %Zji 4) — log(x 2)+\.ﬁlog(2y§
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65. Radium-123 £as ay half life of 500 years. Suppose we have a 200 g sample. How much of the sample
remains after 300 years? n(t) = ne™ /7{ #)= 200 6

A / - 1fy }= = ‘
fond 1 14 L ()= 50r 1 4;;5—*3 [n)=15204 |

4 67. A radioactive substance has a half-life of 5 days. About how much of 125g sample will remain after 12
days?

 fond. 1 st Unlh)5  nlfF)=ltse” "




68. The velocity of a sky diver ¢ seconds after jumping is given by v(r) =50(1—e™%) . After how many
seconds is the velocity 30 ft/s? _ 2t
( 2 N P A 4= -2t
30' 50 I-— e . | zé. ==
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Solve the systems
69. {x"’2=‘4 3:iX-372 Xx=5 70.{"2+J’2=25 -5:y2=0 y=0
SRl = y2=x+5 1 :--q ’fj
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Free Re§gonse

71. f(x)= = =2 Graph showing all asymptotes, holes, and intercepts. A
G-2(+4) € , Sr S —
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72. Graph the system: ys00 If bounded state the vertices. EEEEEED b b A
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